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* Multiple choice questions: 

1. When we divide any number by 1 then the quotient will be 

      a) 0  b) 1  c) number itself 

2. Division of any number by zero =_____ 

     a) 0  b) 1  c) not possible 

3. What is the rule to verify the result in division of numbers? 

     a) (QXD)+R=DIV  b) (QXDIV)+R=D  c) (DXDIV)+R=Q 

4.What will be the product if we change the order of numbers? 

a) Number itself                       b) same                            c) different 

5.What will you obtain if we multiply 62 by 2000? 

a) 62000                                   b) 124000                        c) 622000 

6. Any number multiplied by zero gives___in product. 

a) 0                                                 b) 1                                  c) number itself 

 

*CASE STUDY BASED QUESTION: 

280 students of class IV were divided into 9 teams for an Inter-House Sports 

competition. 

7. How many students were there in each team? 

8. Check whether all the students were divided into 9 teams or not? If not, 

then how many students were left who were not divided? 

9. How many students will be there in each team if students were divided 

into 10 teams? 

 

10. Divide 4563 by 28 and verify your answer. 

11. Find the product: 

a) 2841 x 39                                 b) 625 x 237 

12. The cost of a wrist watch is ₹349. What will be the cost of 42 such wrist 

watches? 

 

 

 
 


